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 M.M. 70

	Note : 

1. This question paper is divided into sections.
2. Section – A consists 30 marks.

3. Section – B and Section – C are of 20 marks each.
4. Answer the questions after carefully reading the text.

	Section – A

	Q 1. 
	Answer the following questions.    
	

	
	a) What is open source software? Differentiate between Freeware and shareware.
	2

	
	b) What are the following softwares used for- 

       i) Pythan               ii) MySql
	2

	
	c) Name the phases of SDLC. 
	2

	
	d) What do you mean by cost benefit analysis?
	2

	
	e) Differentiate between entity and attributes with  the help of an example.
	2

	Q 2. 
	Answer the following questions.
	

	
	a) What is an iterative statement? Name any two iterative statement provided in VB.
	2

	
	b) What are the different modules available in VB?  Name the module whose code is available to all the forms of a project.
	2

	
	c) What are default and Cancel buttons? How are they useful?
	2

	
	d) What do you mean by Scope and Lifetime of a variable? 
	2

	
	e) What is data environment? How is it useful?
	2

	Q 3.
	a) What is database fragmentation? Name its types. 
	2

	
	b) What are the similarities and difference between trigger and procedure?
	2

	
	c) Differentiate between DML and DDL commands? Give one example of each. 
	2

	
	d) Differentiate between Row and Statement trigger.
	2

	
	e) Name the keyword used to-
     i) Modify the data type and size of a column in a table.
     ii) Remove the tuples which can’t be rolled back.
	2

	Section B

	Q 4. 
	Read the following case study and answer the questions that follow.
	

	
	Manager of Bachat Bank has developed a form for finding EMI to be paid by customers against repayment of loan. 
Loan interest rates are(Yearly) -
                          Loan Type                        Interest Rate
                            Car Loan.                                14.5 %
                            Personal Loan                         13.25 %
                            Education Loan                       11.75 %
Object Type

Object Name

Description

Form

FrmEmiCalc
Main Form

Combo Box

cmbYears
To select Years for Loan
Text Box

txtLoanAmt
To enter loan amount
txtProcCharge
To enter processing charge 
txtRate
To enter interest rate
txtEMI
To display EMI payable
Option Button
optCar
To select loan type as Car Loan
optPersonal
To select loan type as Personal Loan
optEducation
To select loan type as Education Loan
Command Button

cmdCalcEMI
To calculate payable  amount

cmdClear

To clear the entered values

cmdExit

To quit form application
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	a) Initially loan type should be set to Car Loan, TxtRate should be disabled and cmbYears  should have values 5,10,15, and 20.
	2

	
	b) If loan amount is less than or eual to 0. It should display an error message “Invalid Amount” and cursor should point to txtLoanAmt. 
	2

	
	c) When the user clicks the CmdCalcEMI button, the total payable EMI should be calculated and displayed in the txtEMI text box. To calculate EMI, firstly calculate compound interest using formula ci=p*(1+r/100)^t. Add compound interest to loan amount  and divide by time (in months).
	4

	
	d) Write the code for CmdExit button to stop the application and  CmdClear command button to clear all the text boxes, option buttons. Also cursor should point on txtLoanAmt test box.
	2

	Q 5.
	a) Find the error from the following code segment and rewrite the corrected code underlining the correction made(VB): 

     For I=0 to 4

        For J=0 to I-1

             Select Case(I+J+1)

                     Case = 1 or 3

                          Sum=sum+1+3

                     Case 1,2,3

                          Sum=sum+2

                      Else Case
                          Sum=sum+3

              Exit Select 

          Next I : Next J
	2

	
	b) Find the output of the following code segment:

    i) st = " All The Best"

       Print Mid(Left(st, 4), 2, 3) + "The" + Mid(Right(st, 8), 5, 4)   
    ii) Dim S As Integer

        For I = 1 To 3

             For J = 3 To 5

                 S = S + J
                If I * J = 15 Then

                    S = S - J
                End If

             Next

         Next

         Print S
	2

	
	c) Change the following code using FOR loop without affecting the output.
    dim work as integer, I as integer, K as integer
     work=15
    do while work>=0

        work= work * I

           I = I + 2

           if i=2 then

               work=-5

           else

               work=work-9

           end if

     loop
	2

	
	d) Write a function funPer that takes five numbers and one optional number argument from the user and return percent of marks based on 5 or on 6 subjects.
	4

	
	
	

	Section C

	Q 6. 
	Answer the following question.
	

	
	a) Write the output produced by the following part of code in PL/SQL. 

    DECLARE
        N NUMBER:=2;

        P NUMBER:=8;

    BEGIN
        FOR I IN N+5 .. P+2 LOOP 

           DBMS_OUTPUT.PUT_LINE(I+(N+P));

           N:=N+1;
           P:=P+5;
         END LOOP;

    END;
	2

	
	b) Find Error in the following code, underline errors and rewrite the correct code.

    CREATE AND REPLACE FUNCTION fact (n NUMBER=1) RETURN NUMBER
           Factor:=1;
      BEGIN

           FOR I IN REVERSE n ..1 

                 Factor=Factor*I;
           LOOP;

                  DBMS_OUT.PUT_LINE(“Factorial =”+Factor);
     END FUCTION;
	2

	
	c) What is the need of cursors? Can a cursor take an argument? Explain with example.
	2

	
	d) Write a PL/SQL procedure SwapNum that takes two number arguments and displays swapped value. Do the swapping without using third variable.
	4

	
	
	

	Q 7. 
	Answer the following question based on the MOBILE table.

Table : MOBILE
Column Name

Data Type

Size

Constraint

Description

IMEINo
NUMBER
16
Primary Key
IMEI Number
Company
VARCHAR2

20
NOT NULL

Company Name eg. NOKIA etc.
Type
VARCHAR2

20

Type of Mobile (CDMA/GSM)
Price
NUMBER
5
Can not be less than 1500
Price of Mobile
LaunchDate
DATE
8
Date of Launching
MobileNo
VARCHAR2
12
UNIQUE
Mobile Number
MobOperator

VARCHAR2

12

NOT NULL

Operator Name eg. BSNL, AirTel, etc.


	

	
	a) Write the SQL command to create the table Mobile including its constraints.
	2

	
	b) Write the SQL command to create a view Display consisting IMEINO, Type, Price and  MobileNo who are launched between 25-12-2008 and 31-03-2009 by Nokia.
	2

	
	c) Write PL/SQL code to create trigger that does not allow changing the operator with the same mobile number.
	2

	
	d) Write a PL/SQL procedure LowPrice to decrease the price of all the mobiles that are launched before 28-02-2007 by 45% for the company passed by the user as IN parameter.
	4

	
	
	


Paper Submitted By:- Vinay Kumar Srivastava

Email:- vinaysrivastava@rediffmail.com

Phone No.  09450016025

-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

_1323092251

